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The figures in the margin indicate full marks

for the qtestions

1. ses fuE<tT{ igq E-s{ <tG Cfr.g<t / Bg< fril : 1x6=6

Choose the correct answer / Answer the
following:

(a.) qI{ "rq& TN GNP ?<q

According to expenditure method, GNP
is

(i) Y =C+I+G+X- M
(A Y=C+I+G
(W y =C+I
(iu) Y =C+G
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(b)

l2t

'EK"EI +Tq'< {KqK E6ls qts fq {sl
qqfrftftqrrfiff q'q

The concept of liquidity trap' is
associated with which economist?

(, J.M.Keynes

(ii) W. J. Baumol

(W M. Friedman

(iu) JemesTobin

(c) frqr{r 1nr< tRNt Eg{ .sh fiqr<h-eT fr-<l r

Write one limitation of Fisher's quantity
theory of money.

(d.) ffiEvrc< l<tr ffi h. qq q+qrcbra cEmr

q{

Continuous rise in the
called

p <iFiw ue

trade cycle

r,, TeT 
qtrst'D-{

deflation

[2, {ur€C
inflation

[u/ e{s{ ehs nqT

None ofthe above

1S
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(e) TEs-d< 
+-|1 =;1- ltza ft r

What ls :nargtnal ef{iciency of capital?

A $B-o :'-r ::(cr$[ = ?

The mrs:al propensityto consume = ?

2. Eq-{ fr 3;; is*; e"r<s ET 6T-rl fr-{ (flffiT
)Go r1-T< t=-<= . 4x3=12

Write sh,:r:::,:,'res on any threeof the following
(within 150 words each) :

(a) erEu= =-e rqftrc qqfr'e'f+< 'ttt+l
Disunc';cn between microeconomics
and macroeconomics

(b) qlx< :Fr :'rP

Circular flow of income

ti'(tu) t
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l4l

Liquidity trap

(d) E"rrqfl ffifi E{

Attributes of consumption function

3. (a) qqBqg qarfrG{ 
"rRl-s qtr sry <.6r +-qt I

Describe the scope and significance of
macroeconomics.

qEqf / Or

(b) /4 q{Eqs qcfrsT-fi .{h Bn<qs rEin\o
'qcfr{fu qR\ {Kffit flqjt Tiil I

Illustrate the concept of an
'economic model'using an example
from macroeconomics.

/r, qclffi fimqs firqrs qr {En!-{Fs
fE"rfr {r.{ fr Tq, frq r

Explain what is meant by positive
and normative approaches to
economic analysis.

4. (a) er0l qt fl.1-an $qeflqr qFp T,{ 1q& q-"fz(
TJI$I q5K-CEKI 

I

Explain the production and expenditure
methods of computing national income.

t2

10

6

6
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(b)

5. (a)

(51

9411/ Or

EEq q<6fl'qas xE.I fi{t :

Define the following concepts :

(t) erfu qq Tqlrc GDP

Real and nominal GDP

3+3+4=16

I

/r, {'r qs<T $q{w{ q-{,SlEe (rip+;
GDP deflator

/i0 GDP qTs TaifiGl

GDP and welfare

rTrfr$ DIfuT fieq ft pr qlqB.s EfuF
fifta -tffirrq{q $t1it r:rr t 2+8=10

What do you mean by aggregate
demand? Explain the different
components of aggregate demand.

9W/ Or

(b) xqlfie fi'ml \oE-{ qB{T.firTq <lnir r-fl I qE

Eg{ fr cetelt F ftlt<qq Bemq +-fl I 8+2=10

Explain the assumptions of the classical
theory of employment. Mention any two
limitations of the theory.
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6. (a) RReflq eq+:r qsT firr
offiqrft< fivcq <rqTr s-ql r

9Wl / Or

(b)

money? Write
money and near

(

7. (a)

(b)

P2s115,26

Define investment multiplier. Explain
the working mechanism of investment
multiplier.

r frfr-anri sqr-{

between

2+S:10

10

( qoqeffiqtqqrftq <lrqqFke \o qiR )

Addltional2O marks for 2O2B Batch I

cq'< TqT frfteBT qTT ttl< \r-rqflfiTq $Wr
TII I

Explain Say's law of markets and its
implications.

9w/ or

flICElD{-{q 6st{q{ qr qrs frcrn EEZtr
qTCqID-{I <F-{I I

Critically discuss the Keynesian theory
of income and employment.
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8. (a)

l7)

qqrcf / Or

(b) Tnr< tRvt qgcbt flqr n-{r r

Explain the quantity theory of money.

***

I 1s26 2 SEM FYUGP MINECO2

1nrfte< csr fi{T r lsT€G< frftn 3p6 q-a
:oKTfle <fit +<t t 2+8:10

Define inflation. Describe the different
types and causes of inflation.

10


